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1 Multivariate Gaussians

Recall the density of a d-dimensional Gaussian random variable X with mean p € R? and covariance ¥ € R¥*4:
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Recall that two random variables are independent when the joint density is the product of the marginals.

Exercise 1.1. Show that when ¥ = 1z, we have d independent I1-dimensional random variables

Solution: W hen ¥ =1 :
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Since the joint distribution factors into the marginals, we can say that when X = Iz, we actually just have d
independent 1-dimensional random variables.

Exercise 1.2. Show that when ¥ = diag (Jf o3 ... J,QL) , we have d independent 1-dimensional random variables
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Since the joint distribution factors into the marginals, we can say that when ¥ has the stated structure, we
actually just have d independent 1-dimensional random variables.

Note that when X is a general PSD matrix, the density is a general joint distribution.



2 Differential Entropy of Gaussian

Let us compute the entropy of a multivariate Gaussian. Recall the definition of differential entropy:

Definition 2.1. (Section 8.1 in Cover and Thomas) The differential entropy h(X) of a continuous random variable
X with density f(x) is defined as:
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where S is the support set of the random variable.

Exercise 2.1. Compute H(X) where X is a multivariate Gaussian with mean p € R? and covariance . € R4*4 .

Solution: W e start by plugging in the definitions:
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Note that the last term in Eqn. 11 is the expectation of the 5 norm of a random variable Y that is a standard
Gaussian, which is d. We could also get this by writing out the integral and doing a change of basis.

3 Total Variation Distance Between Two Gaussians

We did not get to this during the discussion, but it is a useful computation to work through, so I am including it in
the notes for reference!

Finally, let us study the total variation distance between two Gaussians. Interestingly, there is no known closed
form! However, we are lucky to have a tool at our disposal to still try to get a bound — Pinsker’s Inequality!

Lemma 3.1. Pinsker’s Inequality (from lecture notes) For two distributions P,Q supported on X :
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We also know that d7v (P,Q) = 3||P — Q||1, so if we can bound D(P||Q), we can get a bound on the total
variation distance. So let us focus on that. Let P ~ N (pp, X)), Q ~ N (g, Xq) -
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And so now, plugging back into Pinsker’s Theorem, we have:
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